CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT: El Paso Zoo

CONTACT PERSON/PHONE: Steve Marshall, El Paso Zoo Director, (915) 212-2800

August 8, 2017

Bruce D. Collins Purchasing & Strategic Sourcing Director, (915) 212-1181

DISTRICT(S) AFFECTED: All

STRATEGIC GOAL: NO. #4: Enhance El Paso's Quality of Life through Recreational, Cultural and Educational Environments

SUBJECT:

AGENDA DATE:

The award of Solicitation No. 2017-918 Animal Food – Pellets, Grains, Etc. to Lab Animal Supplies, Inc. for an initial three (3) year term estimated award of \$474,469.23.

BACKGROUND / DISCUSSION:

The El Paso Zoo is recommending awarding Solicitation 2017-918 Animal Food – Pellets, Grains, Etc. to Lab Animal Supplies, Inc. for \$474,469.23, which offered the lowest, responsive and responsible bid to the City. If approved, this award will allow the department to purchase Animal Food – Pellets, Grains, Etc.

SELECTION SUMMARY:

Solicitation was advertised on April 11, 2017 and April 18, 2017. The solicitation was posted on City website on April 11, 2017. The email (Purmail) notification was sent out on April 13, 2017. Total of sixteen (16) bidders were solicited; six (6) local vendors. One (1) bid was received; zero (0) local vendors. An inadequate competition survey was conducted.

PROTEST:

\boxtimes	No protest received for this requirement
	Protest received.

COUNCIL REPRESENTATIVE B	RIEFING:
Was a briefing provided? Yes or If yes, select the applicable district	
District 1 District 2 District 3 District 4 District 5 District 6 District 7 District 8 All Districts	
PRIOR COUNCIL ACTION:	
On August 26, 2014, Council approv Bid II) to Lab Animal Supplies Inc. a	red award of solicitation 2014-419 - Animal Food - Pellets, Grains, Etc. (Rend Valley Feed and Supply Inc.
AMOUNT AND SOURCE OF FUN	NDING:
Department: Annual Estimated Amount: Initial Term Estimated Award: Accounts: Fund Source Name:	El Paso Zoo \$158,156.41 \$474,469.23 (3 Years) 452-52140-531100-3400-P5241 Zoo Operations Fund-Animal & Animal Services
BOARD / COMMISSION ACTION	<u>N:</u>
N/A	
*********	**REQUIRED AUTHORIZATION*************
DEPARTMENT HEAD:	
Steve	Marshall, El Paso Zoo Director

COUNCIL PROJECT FORM (LOW BID)

Please place the following item on the **CONSENT** agenda under **BIDS** for the Council Meeting of **JULY 25**, **2017**.

STRATEGIC GOAL: NO. 4: Enhance El Paso's Quality of Life through Recreational, Cultural and Educational Environments

The award of Solicitation No. 2017-918 Animal Food – Pellets, Grains, Etc. to Lab Animal Supplies, Inc. for an initial three (3) year term estimated award of \$474,469.23.

Department: El Paso Zoo

Award to: Lab Animal Supplies, Inc.

Highland Village, TX

Item(s): 1-40; 42-58; 60-74; 76-78

Initial Term: 3 years Annual Estimated Award: \$158,156.41

Initial Term Estimated Award: \$474,469.23 (3 years)
Total Estimated Award: \$474,469.23 (3 years)

Accounts: 452-52140-531100-3400-P5241

Fund Source Name: Zoo Operations Fund – Animal & Animal Supplies

District(s):

This is a Low Bid, unit price contract.

The Purchasing & Strategic Sourcing Department and El Paso Zoo recommend award to Lab Animal Supplies, Inc., the bidder offering the lowest responsive, responsible bid. Items number: 41, 59 and 75 are not being awarded, due to no bid or discontinued product.





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918
Department: ZOO

Bid (Opening Date: MAY 17, 20	J1 <i>1</i>						.,			Depart	ment: 200
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL IED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
4	WILD HERBIVORE PLUS MAZURI #5Z8W	PER LB	2,500	3,000	\$0.6474	\$1,942.20		\$0.00		\$0.00		\$0.00
1.	BRAND:				MAZ	ZURI						
	STOCK#				52	8W						
	PKG SIZE:				50	В						
	MARINE TABS MAZURI #5TWX	PER GRAM	8,000	9,000	\$0.16667	\$1,500.03		\$0.00		\$0.00		\$0.00
2.	BRAND:				MAZ	ZURI				Annu		
	STOCK#				181	1966						
	PKG SIZE:				1 1	KN						
3.	FLAMINGO COMPLETE MAZURI #5644	PER LB	1,800	2,000	\$1.44	\$2,880.00 BIDDER'S PRICE \$2,888.00		\$0.00		\$0.00		\$0.00
	BRAND:				MAZ	ZURI	***************************************					
	STOCK#					44	warmer					
	PKG SIZE:				50	LB						[
4.	FLAMINGO BREEDER MAZURI #5645	PER LB	1,300	1,500	\$1.5874	\$2,381.10 BIDDER'S PRICE \$2381.11		\$0.00		\$0.00		\$0.00
	BRAND:				MAZ	ZURI						
	STOCK#				56	45						
	PKG SIZE:				50 LB							

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___/s/____ DATE: ___05/23/2017_____





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

)е	par	tme	ent:	Z	OC

	Spennig Date. MAT 17, 20	<i>, , ,</i>								-31		
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMA	NUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
ı	RATITE MAZURI #5647	PER LB	1,500	2,000	\$0.5758	\$1,151.60		\$0.00		\$0.00		\$0.00
5.	BRAND:		F		MA	ZURI						•
	STOCK#				56	647						
	PKG SIZE:				50	LB						
	RODENT DIET MAZURI #5663	PER GRAM	3,000	3,400	\$0.8144	\$2,768.96		\$0.00		\$0.00		\$0.00
6.	BRAND:				MAZ	ZURI		4				•
	STOCK#				56	333						
	PKG SIZE:				25	LB						
	FERRET DIET MAZURI #5M08	PER LB	100	150	\$1.5328	\$229.92		\$0.00		\$0.00		\$0.00
7.	BRAND:			1	MAZ	ZURI				J		
	STOCK#				5N	108				To A Control of the C		
	PKG SIZE:				25	LB						
	EMCELLE TOCOPHEROL MAZURI #10111	PER LITER	20	24	\$145.30	\$3,487.20		\$0.00		\$0.00		\$0.00
8.	BRAND:		l		MAZ	ZURI		1		-		1
	STOCK#				10	111						
	PKG SIZE:				1 LI	TER	,					
	The information contained	in this hid t	ahulatio	n ie for i	oformation on	ly and does no	of constitute	actual award/e	vecution of	contract		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/____

DATE: ___05/23/2017_____





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

LAB ANIMAL SUPPLIES, INC. HIGHLAND VILLAGE, TX TOTAL TOTAL TOTAL TOTAL ANNUAL **EXTENDED EXTENDED EXTENDED EXTENDED** PRICE PRICE PRICE PRICE ITEM UNIT OF ESTIMATED QTY. PRICE PRICE PRICE PRICE DESCRIPTION **MEASURE** NO. (A) X (B) = (C) $(A) \times (B) = (C)$ $(A) \times (B) = (C)$ (A) X (B) = (C) MIN MAX (C) (C) (C) (A) (A) (A) (C) (A) (B) **HERBIVORE ADF 16** 4,500 PER LB \$0.512644 \$2,563.22 \$0.00 \$0.00 \$0.00 5.000 **MAZURI #5648** BIDDER'S PRICE \$2,563.32 MAZURI BRAND: 5648 STOCK# PKG SIZE: 50 LB **LLAMA SUPPLEMENT** PER LB 800 900 \$0.5584 \$502.58 \$0.00 \$0.00 \$0.00 MAZURI #5M17 10 MAZURI BRAND: 5M17 STOCK# 50 LB PKG SIZE: **ELEPHANT SUPPLEMENT** PER LB 15.000 20,000 \$0.59212 \$11,842.40 \$0.00 \$0.00 \$0.00 **MAZURI #5666** BIDDER'S PRICE \$11,842.44 11 BRAND: MAZURI 5666 STOCK# 50 B PKG SIZE:

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

\$3.77

CRICKET FOOD, HI CALCIUM MAZURI #5M38

12. BRAND:

STOCK# PKG SIZE: PER LB

300

375

\$1,413.75

MAZURI 5M38

25 LB

\$0.00

\$0.00

\$0.00





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

	Opening Date. MAT 17, 20				,,						D Cpui	inent. 200
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		IUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
40	GUINEA PIG DIET MAZURI #5664	PER LB	75	100	\$0.7916	\$79.16		\$0.00		\$0.00		\$0.00
13.	BRAND:		11		MA	ZURI				,		· · · · · · · · · · · · · · · · · · ·
	STOCK#				56	564						
	PKG SIZE:		0.00		25	LB						
4.4	REPTOVITE MINERAL SUPPLEMEMENT WITHOUT D3 ZOO MEDS #ZMA35-80	PER LB	150	175	\$13.00	\$2,275.00		\$0.00		\$0.00		\$0.00
14.	BRAND:				Z00	MED		*		,		
	STOCK#		100000000000000000000000000000000000000		ZMA	35-80						
	PKG SIZE:				5	LB						
	CHIA SEED- GROUND SPECTRUM	PER LB	30	40	\$29.28	\$1,171.20		\$0.00		\$0.00		\$0.00
15.	BRAND:			L	SPEC	TRUM	•	1			<i>u</i>	1
	STOCK#				CHIA	SEED						
	PKG SIZE:				10 Oz	Z BAG						
	ENRICH 32 HORSE PURINA #35ML	PER LB	1,100	1,200	\$0.592	\$710.40		\$0.00		\$0.00		\$0.00
16.	BRAND:		II.	I	PUF	RINA		1		<u>'</u>		
1	STOCK#				35	ML						
	PKG SIZE:				50	LB						
	The information contained i	a Abia bid A	abulatia	a la far ir	sformation on	ly and does no	at constituto	antual award/a	vocution of c	ontract		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/____

DATE: 05/23/2017





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918 Department: ZOO

Bla (Opening Date: MAY 17, 20 [,]	17			4						Depar	ment: 200
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
17.	REPTOVITE MINERAL SUPPLEMENT WITH D3 ZOO MEDS #ZMA3680	PER LB	125	150	\$30.00	\$4,500.00		\$0.00		\$0.00		\$0.00
17.	BRAND:				Z00	MEDS						
	STOCK#				ZMA	3680						
	PKG SIZE:				3 L	.BS						
40	INSECTIVORE MAZURI #5MK8	PER LB	1,100	1,250	\$1.516	\$1,895.00 ´		\$0.00		\$0.00		\$0.00
18.	BRAND:				MAZ	ŽURI		•				•
l i	STOCK#				5M	IK8						
	PKG SIZE:				25	LB				Š		
	GAMEBIRD LAYENA CRUMBLES PURINA #5438	PER LB	1,500	1,800	\$0.4496	\$809.28		\$0.00		\$0.00		\$0.00
19.	BRAND:		<u>u</u>		PUF	RINA		1				
	STOCK#				54	38						
	PKG SIZE:				50	LB					***************************************	
	SENIOR EQUINE PURINA #352Q	PER LB	3,000	3,650	\$0.50	\$1,825.00		\$0.00		\$0.00		\$0.00
20.	BRAND:				PUF	RINA		•			······································	
	STOCK#		100000		35	2Q						
	PKG SIZE:				50	В						
{	The information contained i	n thic hid t	abulation	a ie for ir	oformation on	ly and does no	t constitute	actual awardle	vecution of o	contract		

DATE: ___05/23/2017_





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

DIG '	Opening Date: WAY 17, 20	1							(Depart	ment: 200
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL FED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
21.	CORN, CRACKED PURINA #L52M	PER LB	500	600	\$0.22	\$132.00 BIDDER'S PRICE \$135.84		\$0.00		\$0.00		\$0.00
۷1.	BRAND:				PUF	RINA						
	STOCK#				L5	2M						
	PKG SIZE:				50	LB						
22	OMNIVORE CHOW ZUPREEM #69950	PER LB	1,200	2,500	\$1.9815	\$4,953.75		\$0.00		\$0.00		\$0.00
22.	BRAND:				ZUPF	REEM					1	
	STOCK#				669	950			***************************************			
	PKG SIZE:				20) В						
	WATER FOWL MAINTENANCE MAZURI #5642	PER LB	3,000	3,750	\$0.776	\$2,910.00		\$0.00		\$0.00		\$0.00
23.	BRAND:		II.		MAZ	ZURI		•				
	STOCK#				56	42				a. Managara		
	PKG SIZE:				50	LB				T-CAN-CAST		-
	WILD HERBIVORE DIET, HI FIBER MAZURI #5ZF1	PER LB	30,000	32,500	\$0.549	\$17,842.50		\$0.00		\$0.00		\$0.00
24.	BRAND:				MAZ	2URI						
	STOCK#				52	F1						
	PKG SIZE:				50	LB						
	The information contained i	n this hid t	abulation	nie for ir	formation on	ly and does no	t constitute	actual award/e	xecution of	contract		

The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract. APPROVED BY: __/s/_____

DATE: ___05/23/2017_





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

Bia (Opening Date: MAY 17, 201	l f				,,					Depai	tment: ZOC
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
25.	EXOTIC CANINE MAZURI #5MN2	PER LB	1,485	1,815	\$1.1378	\$2,065.11 BIDDER'S PRICE \$2,665.25		\$0.00		\$0.00		\$0.00
	BRAND:				MA	ZURI						
-	STOCK#				51	1N2						
	PKG SIZE:				33	LB						
	CRANE MAINTENANCE MUZURI #5646	PER LB	3,600	4,000	\$0.777	\$3,108.00 BIDDER'S PRICE \$3,110.42		\$0.00		\$0.00		\$0.00
26.	BRAND:				MA	ZURI		1				
	STOCK#				56	646						
	PKG SIZE:				50	LB						
27.	COLOR COMPANION PARROT SEED MIX PURINA #62032	PER LB	1,000	1,200	\$1.2457	\$1,494.84 BIDDER'S PRICE \$1,494.89	·	\$0.00		\$0.00		\$0.00
21.	BRAND:				COLOR C	OMPANION						
	STOCK#				62	032						
	PKG SIZE:	1000			25	LB						
28.	COLOR COMPANION FINCH SEED MIX PURINA #62021	PER LB	1,000	1,200	\$1.1793	\$1,415.16 BIDDER'S PRICE \$1,415.19		\$0.00		\$0.00		\$0.00
20.	BRAND:				PUI	RINA						
	STOCK#	100000000000000000000000000000000000000			62	021						
	PKG SIZE:				25	LBS						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___/s/____ DATE: ___05/23/2017_____





Solicitation #: 2017-918

Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid (Opening Date: MAY 17, 201	7									Depart	ment: ZOO
					31	SUPPLIES, INC. VILLAGE, TX						
TEM	DESCRIPTION	UNIT OF MEASURE		IUAL FED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
29.	SUNFLOWER SEEDS GREY STRIPED	PER LB	200	300	\$0.779	\$233.70 BIDDER'S PRICE \$223.73		\$0.00		\$0.00		\$0.00
29.	BRAND:				PUF	RINA						
	STOCK#				14	59						
	PKG SIZE:				50	LBS						
	PEANUT, RAW IN SHELL	PER LB	1,600	1,800	\$1.75	\$3,150.00		\$0.00		\$0.00		\$0.00
30.	BRAND:				JONES	SEED		***************************************				,
	STOCK#				PEAI	NUTS			***************************************			
	PKG SIZE:				50 (LBS						
24	BRAN	PER LB	350	400	\$0.38	\$152.00		\$0.00	,	\$0.00		\$0.00
31.	BRAND:				PUF	RINA						
	STOCK#				WHEA.	T BRAN				_		
	PKG SIZE:		100000000000000000000000000000000000000		50	BS						
	IAMS LESS ACTIVE CAT FOOD IAMS	PER LB	30	40	\$1.25	\$50.00		\$0.00		\$0.00		\$0.00

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

IAMS IAMS LA CAT

16 LBS

APPROVED BY: ___/s/_ DATE: ___05/23/2017___

BRAND:

STOCK# PKG SIZE:





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Solicitation #: 2017-918

Bid (Opening Date: MAY 17, 20	17									Depart	ment: ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF		IUAL IED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
33.	BROWSE BISCUITS MAZURI #5MA4	PER LB	1,600	1,800	\$1.50	\$2,700.00 BIDDER'S PRICE \$2,701.44		\$0.00		\$0.00		\$0.00
33.	BRAND:				MA	ZURI						
	STOCK#				51	1A4						
	PKG SIZE:				25	LBS						
	GROWTH & REPRO. PRIMATE MAZURI #5MA1	PER LB	1,200	1,400	\$0.8648	\$1,210.72		\$0.00		\$0.00		\$0.00
34.	BRAND:				MAZ	ZURI						
	STOCK#				5N	1A1	·········					
	PKG SIZE:				25	LBS						
0.5	COLORFUL COMPANION COCKATIEL PURINA #62023	PER LB	2,400	2,600	\$1.09	\$2,834.00		\$0.00		\$0.00		\$0.00
35.	BRAND:				PUF	RINA						
	STOCK#				62	023						
	PKG SIZE:				25	LBS						
00	KOI POND NUGGETS MAZURI #5M78	PER LB	50	75	\$1.4055	\$105.41		\$0.00		\$0.00		\$0.00
36.	BRAND:				MAZ	ZURI				***************************************		-
	STOCK#				5N	178						
	PKG SIZE:				20	LBS				- And Andrews		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___/s/____ DATE: ___05/23/2017_____





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Solicitation #: 2017-918 Department: 700

Bid (Opening Date: MAY 17, 20	17									Depar	ment: ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		IUAL IED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
	PLAIN SALT BRICKS	PER LB	50	80	\$0.75	\$60.00		\$0.00		\$0.00		\$0.00
37.	BRAND:		μ		PUF	RINA						
	STOCK#				58	3-4					***************************************	
	PKG SIZE:				4/15 6	0 LBS						
	REPTI CALCIUM WITHOUT D3 ZOO MEDS ZM13308M	PER LB	50	75	\$30.00	\$2,250.00		\$0.00		\$0.00		\$0.00
38.	BRAND:				Z00	MEDS	UWW 1115 V					
	STOCK#				ZM13	308M	MATERIAL TO					
	PKG SIZE:				21	.BS						
39.	HERBIVOROUS REPTILE LS MAZURI #5E5M	PER LB	900	1,000	\$1.768	\$1,768.00 BIDDER'S PRICE \$1,768.25		\$0.00		\$0.00		\$0.00
J J .	BRAND:				MAZ	ZURI						
	STOCK#					5M			***************************************			
	PKG SIZE:				25	LBS						
40.	WATER FOWL BREEDER MAURI #5640	PER LB	2,000	2,500	\$0.8314	\$2,078.50 BIDDER'S PRICE \$2,078.70		\$0.00		\$0.00		\$0.00
40.	BRAND:				MAZ	ZURI						
	STOCK#				56	640			 :			
	PKG SIZE:				50	LBS						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

שוע	Opening Date. MAT 17, 20		eleminate and a second	organism and a Zanamada, 19	a a				1		Depai	unent. 200
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) x (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
	CALCIM CARBONATE POWDER	PER LB	250	300	NO BID	\$0.00		\$0.00		\$0.00		\$0.00
41.	BRAND:		1	<u> </u>	NO	BID				1		1
	STOCK#				NO	BID						
	PKG SIZE:				NO	BID						
	COLOR COMPANION MACAW PURINA #25713	PER LB	1,400	1,500	\$2.027	\$3,040.50 BIDDER'S PRICE \$3,040.56		\$0.00		\$0.00		\$0.00
42.	BRAND:		H.	•	PUF	RINA						
	STOCK#				25	713						
	PKG SIZE:				25	LB\$						
43.	OYSTER SHELL PURINA #2653340	PER LB	150	200	\$0.357	\$71.40 BIDDER'S PRICE \$71.44		\$0.00		\$0.00		\$0.00
45.	BRAND:		T.		PUF	RINA						
	STOCK#					51						
	PKG SIZE:		T.	T .	50	LB						1
44	GEL, BIRD ZULIFE MAZURI #5ME4	PER KILOGRAM	100	150	\$23.69	\$3,553.50		\$0.00		\$0.00		\$0.00
44.	BRAND:				MAZ	ZURI .						
	STOCK#					E4						
	PKG SIZE:				1 1	KG						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___/s/_____ DATE: 05/23/2017





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Solicitation #: 2017-918

-	oct Name: ANNIAL FOOD Opening Date: MAY 17, 20		s, GRAI	NS, EIC	<i>,</i> .					•		#. 2017-916 tment: ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMA	NUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(c)	(A)	(c)
4.5	GEL, CALLITRICHID DIET MAZURI #5M15	PER KILOGRAM	80	150	\$24.49	\$3,673.50		\$0.00		\$0.00		\$0.00
45.	BRAND:				MAZ	ZURI		•				
	STOCK#				5N	<i>1</i> 15						
	PKG SIZE:				11	KG						ŧ
46.	TABLETS, VITA ZU BIRD MUZURI #5M25	PER GRAM	760	760	\$0.1723	\$130.95 BIDDER'S PRICE \$130.99		\$0.00		\$0.00		\$0.00
40.	BRAND:				MAZ	ZURI						
	STOCK#					125						
	PKG SIZE:		ı		1 1	KG		<u></u>		_		
47.	TURTLE DIET FRESHWATER MAZURI #5M87	PER LB	200	250	\$1.49	\$372.50 BIDDER'S PRICE \$372.80		\$0.00		\$0.00		\$0.00
47.	BRAND:				MA2	ZURI						
	STOCK#					187						
	PKG SIZE:		T	T .	25	LB		<u> </u>				
48.	VIONATE MINERAL SUPPLEMENTS	PER LB	100	140	\$7.557	\$1,057.98		\$0.00		\$0.00		\$0.00
40.	BRAND:			0.00	FUTUR	E PETS						
	STOCK#					VATE					~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	
	PKG SIZE:				10	LB						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___isi_______

DATE: 05/23/2017





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Solicitation #: 2017-918

Bid	Opening Date: MAY 17, 201	17									Depar	ment: ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL FED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
40	ZEBRA PELLETS MAZURI #5662	PER LB	8,500	9,200	\$0.6172	\$5,678.24		\$0.00		\$0.00		\$0.00
49.	BRAND:		ı	1	MAZ	ZURI		,				
	STOCK#					62						
	PKG SIZE:		T .	T	50	LВ				*		
 0	PETTING ZOO MAZURI #5Z95	PER LB	900	1,250	\$0.741	\$926.25		\$0.00		\$0.00		\$0.00
50.	BRAND:				MAZ	ZURI .						
	STOCK#					95						
	PKG SIZE:		ı	ı	40	LB		1				,
51.	TOTOISE LS MAZURI #5E5L	PER LB	2,500	3,650	\$1.308	\$4,774.20 BIDDER'S PRICE \$3,651.18		\$0.00		\$0.00		\$0.00
٠	BRAND:					ZURI						
	STOCK#				5E							
	PKG SIZE:				25	LB						
5 2	GEL, AQUATIC OMNIVORE DIET MAURI #5Z94	PER KILOGRAM	2	4	\$30.96	\$123.84		\$0.00		\$0.00		\$0.00
52.	BRAND:	1000				'URI						
	STOCK#				5Z							
	PKG SIZE:				11	i.						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/_____

DATE: ___05/23/2017__





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

	Spennig Date. WAT 17, 20	··								. ,		
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL FED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
53.	CANNED PRIMATE ZUPREEM #69300	PER OZ	11,600	13,050	\$0.1793	\$2,339.87 BIDDER'S PRICE \$2,340.00		\$0.00		\$0.00		\$0.00
ا ، در	BRAND:				ZUPI	REEM						
	STOCK#				69	300						
	PKG SIZE:				1 CAN	14.5 OZ						
54.	CANNED MARMOSET ZUPREEM #69200	PER OZ	8,352	8,700	\$0.1793	\$1,559.91 BIDDER'S PRICE \$1,560.00		\$0.00		\$0.00		\$0.00
54.	BRAND:				ZUPI	REEM						
	STOCK#				69	200						
	PKG SIZE:				1 CAN	14.5 OZ						
	PRIMATE DRY MAINTENANCE ZUPREEM #69850	PER LB	1,400	1,500	\$2.1615	\$3,242.25 BIDDER'S PRICE \$3,167.25		\$0.00		\$0.00		\$0.00
55.	BRAND:				ZUPI	REEM	• • •					
	STOCK#				69	850						
	PKG SIZE:				20	LB					***************************************	
56	FRUIT BLEND BIRD FOOD PARROT/CONURE/SOFTBILL ZUPREEM #83500	PER LB	50	100	\$2.9	\$290.00		\$0.00		\$0.00		\$0.00
56.	BRAND:				ZUPI	REEM						
	STOCK#				83	500						
	PKG SIZE:				20	LB	*****					
1	The information contained i			a ic for ir	formation on	ly and door no	t constitute	actual awardle	vecution of o	ontract		

DATE: ___05/23/2017_____





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918
Department: ZOO

Rid	Opening Date: MAY 17, 20	17			.				1		Depar	tment: ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		IUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			Min	(B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
57.	NATURAŁ BIRD DIET - CANARIES/FINCH/SOFTBILL (LOW IRON) ZUPREEM #91500	PER LB	1,800	2,000	\$2.94	\$5,880.00 BIDDER'S PRICE \$5.890.00		\$0.00		\$0.00		\$0.00
57.	BRAND:				ZUPI	REEM						
	STOCK#				91	500				and a second		
	PKG SIZE:				20	LB						
50	NATURAL BIRD DIET - PARROT/CONURE/SOFTBILL (LOW IRON) ZUPREEM #93500	PER LB	900	960	\$3.1545	\$3,028.32		\$0.00		\$0.00		\$0.00
58.	BRAND:				ZUPI	REEM						
	STOCK#				93	500						
	PKG SIZE:				20	LBS						
	ENRICH BITS MAZURI #57G7	PER LB	20	40	NO BID	\$0.00		\$0.00		\$0.00		\$0.00
59.	BRAND:		1		DISCON	ITINUED				,		1
	STOCK#				DISCON	ITINUED						
	PKG SIZE:				DISCON	ITINUED			***************************************			
	GOAT, HONOR SHOW CHOW PURINA #597J	PER LB	1,000	1,250	\$0.492	\$615.00		\$0.00		\$0.00		\$0.00
60.	BRAND:				PUF	RINA		•				
	STOCK#				59	97J						
	PKG SIZE:				50	LBS						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Solicitation #: 2017-918 Department: 700

Bid C	Opening Date: MAY 17, 20 ⁻	17									Depart	ment: ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	ESTIMAT	IUAL. FED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
61.	MINI-PIG, ADULT MAZURI # 5 Z91	PER LB	3,000	3,650	\$0.6622	\$2,417.03 BIDDER'S PRICE \$2.417.15		\$0.00		\$0.00		\$0.00
61.	BRAND:				MA	ZURI				-		•
	STOCK#				52	2 91						
İ	PKG SIZE:				25	LBS						·
62.	MINI-PIG, ELDER MAZURI # 5Z92	PER LB	8,750	9,125	\$0.6664	\$6,080.90		\$0.00		\$0.00		\$0.00
62.	BRAND:				MA	ZURI						
	STOCK#				52	' 92						
	PKG SIZE:	-			25	LB						
	BAGGED TIMOTHY HAY FOR SMALL MAMMALS	PER LB	180	250	\$3.2	\$800.00		\$0.00		\$0.00		\$0.00
63.	BRAND:		Н		OXE	BOW		•			•	
	STOCK#				OX101-	105-0400						
	PKG SIZE:				2.5	LBS						
64.	PRIMATE LOW STARCH CINNAMON MAZURI #5M1S	PER LB	1,800	2,400	\$1.60	\$3,840.00		\$0.00		\$0.00		\$0.00
04.	BRAND:				MAZ	ZURI						
	STOCK#				5N	118						
	PKG SIZE:				25	LB						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/____

DATE: __05/23/2017_____ 2017-918 ANIMAL FOOD - PELLETS, GRAINS, ETC





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

Bla	Opening Date: MAY 17, 20	17							1		Depar	ment: 200
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		IUAL IED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
	ALFALFA CUBES 1" CUBE	PER LB	800	1,000	\$0.3	\$300.00		\$0.00		\$0.00		\$0.00
65.	BRAND:			1	PUF	RINA						
	STOCK#				59	ZM						
	PKG SIZE:				50	LBS			,			
	TIMOTHY CUBES 1" CUBE	PER LB	1,000	1,800	\$0.325	\$585.00		\$0.00		\$0.00		\$0.00
66	BRAND:			I	STAN	DLEE	WITHIN THE T					
	STOCK#				1580-40	0101-0-0						
	PKG SIZE:	0.000000			40	_BS						
	GEL, AQUATIC MAZURI #5M70	PER KILOGRAM	10	25	\$30.99	\$774.75		\$0.00		\$0.00		\$0.00
67.	BRAND:				MAZ	ZURI						
- 1	STOCK#				5N	170					·····	
	PKG SIZE:				11	⟨G						
20	RABBIT CHOW COMPLETE PURINA #530J	PER LB	50	100	\$0.3704	\$37.04		\$0.00		\$0.00		\$0.00
68.	BRAND:				PUF	RINA	· · · · · · · · · · · · · · · · · · ·	•		•		·
	STOCK#				53	Ol						
	PKG SIZE:				50	LB						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___/s/_____ DATE: ___05/23/2017_____





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Solicitation #: 2017-918

Bid (Opening Date: MAY 17, 20 ⁻	17									Depar	tment: ZOC
						SUPPLIES, INC. VILLAGE, TX		1				
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		IUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
~~	AVIAN BREEDER NATURAL ML (PARROT/CONURE) ZUPREEM #75600	PER LB	800	960	\$1.858	\$1,783.68		\$0.00		\$0.00		\$0.00
69.	BRAND:				ZUPI	REEM						1
	STOCK#				75	600					11.11	
	PKG SIZE:				40	LB					***************************************	
	AVIAN BREEDER NATURAL M (COCKATIEL) ZUPREEM #76600	PER LB	800	960	\$1.8580	\$1,783.68		\$0.00		\$0.00		\$0.00
70.	BRAND:				ZUPI	REEM						
	STOCK#				76	600						
- 1	PKG SIZE:				40	LBS						
	SHEEP MINERAL DUMOR	PER LB	100	150	\$0.52	\$78.00		\$0.00		\$0.00		\$0.00
71.	BRAND:			I .	DUI	MOR		-1		1	 	
	STOCK#				2228	39599						
	PKG SIZE:				50	LBS						
	TRACE MINERAL BLOCK	PER LB	880	960	\$0.325	\$312.00		\$0.00		\$0.00		\$0.00
72.	BRAND:			1	PUF	RINA						1
1	STOCK#				ME	-40				-		
1	PKG SIZE:				40	LBS						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: __/s/____

DATE: ___05/23/2017___





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918 Department: 700

Bid (Opening Date: MAY 17, 20	17			<u> </u>						Depart	ment: ZOO
					LAB ANIMAL S	SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		NUAL TED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
	THIAMINE-E MAZURI #10112 80 GRAMS	PER GRAM	2,000	2,880	\$0.2625	\$756.00	,	\$0.00		\$0.00		\$0.00
73.	BRAND:				MA	ZURI						
	STOCK#		la contraction		10	112						
	PKG SIZE:				80 G	RAM						
	GEL, PRIMATE LS MAZURI #5B25	PER KILOGRAM	25	50	\$17.99	\$899.50		\$0.00		\$0.00		\$0.00
74	BRAND:				MA	zuri						
	STOCK#				5E	325	•					
	PKG SIZE:				1	KG						
	LUBEE BAT SUPPLEMENT LUBEE BAT	PER LB	100	150	NO BID	\$0.00		\$0.00		\$0.00		\$0.00
75.	BRAND:				NO	BID						<u></u>
	STOCK#				NO	BID	•					
	PKG SIZE:				NO	BID						
76.	FRISKIES CANNED CAT FOOD- VARIETY PURINA #49654	PER OZ	528	792	\$0.1325	\$104.94 BIDDER'S PRICE \$105.00		\$0.00		\$0.00		\$0.00
10.	BRAND:	1000000			PUF	RINA						
İ	STOCK#				<u> </u>	554						
	PKG SIZE:				[]	ASE OF 24		Address of the second		and the state of t		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: ___/s/_ DATE: ____05/23/2017____





Project Name: ANIMAL FOOD - PELLETS, GRAINS, ETC.

Bid Opening Date: MAY 17, 2017

Solicitation #: 2017-918

Department: ZOO

DIQ \	pening Date: WAY 17, 20	17			,		,				Ворил	ment. ZOO
						SUPPLIES, INC. VILLAGE, TX						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE		IUAL FED QTY.	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)	PRICE	TOTAL EXTENDED PRICE (A) X (B) = (C)
			MIN	MAX (B)	(A)	(C)	(A)	(C)	(A)	(C)	(A)	(C)
	GUM ARABIC MAZURI #1815099	PER KILOGRAM	1	2	\$60.00	\$120.00		\$0.00		\$0.00		\$0.00
77.	BRAND:				MAZ	'URI	•				•••	
	STOCK#				181	5099						
-	PKG SIZE:				1 1	⟨G						
	PIGEON FEED EXCELLO QUALITY BRAND	PER LB	1,000	1,800	\$0.38	\$684.00		\$0.00		\$0.00		\$0.00
78.	BRAND:			I	PUF	RINA		•	•	1		
	STOCK#				541	-w						
	PKG SIZE:				50	LB						
A:	TOTAL EXTENDED- ITE	EMS 1 AND 7	8		\$158,156.41		\$0.	.00	\$0.	.00	\$0	.00
.developeration	anerikai sikkii saman maranga kanaya miserik wek	www.Markengagagagagagaga	e essarat returnos	2000 (GBZ NEWS)	BIDDER'S PRIC	∠= \$156,975.92 <u> </u>			o topo Considera de Caldres Considera	22.020(8/2)(23.02)(8/2)(8/2)		
	PAYMENT TERMS:				NET - 3	0 DAYS	e en en en en en en en en en en en en en	engane et en andre y 2015 gebroom 25 to bet en de de de de de de de de de de de de de	an gamen et englesse en game stade stade stade.	om et user virus et bas in home in delphe i Dunde Hold House No.	n negari sangari sanga	neresconsponentia (mentrescons) (d.24
BIDS S	OLICITED: 16 LOCAL BIDS SO	OLICITED: 6	BIDS	RECEIVE	D: 1 LO	CAL BIDS RECE	IVED: 0	NO BID: 0				

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

Valley Feed 368 Yarbrough El Paso TX 79915 Lisa Hernandez

Anderson Feed Co 338 S. Chana Rd. Chana, IL 61015 815 732-3338 North East Feed 10410 Dyer St El Paso TX 79924 915 821-0044

Premium Nutritional Products PO Box 879045 Kansas City, MO 64187 800 345-4767

districtmanager@petsbarn.co

Horse N Hound Feed n Supply 991 W Amador Las Cruces, NM 88005 575 523-8790 GCC Transload 3500 Doniphan Dr, El Paso, TX 79922 (915) 833-6107

Payless Feed 6951 Doniphan Dr, Canutillo, TX 79835 (915) 877-2162 Lab Animal Supplies 54 Remington Drive Highland Village, TX 75077-4006 800-262-5258 Purina Feed Distributor 368 N Yarbrough Dr, El Paso, TX 79915 (915) 591-9415

Pet's Barn 5500 N. Desert Blvd., Bldg. B, El Paso, TX 79938 915-595-2917 Texas City Feed & Supply 2031 Texas Ave, Texas City, TX 77590 (409) 945-7731 The Greeley Elevator Feed and Supply 700 6th Street, Greeley, Colorado 80631 (970) 352-2575 http://www.greeleyelevator.com

Tri-County Stockdale 25520 West Black Rd. Joliet, II 60404 (815) 207-8465 retailsales@tricountystockdal Western Feed & Pet Supply Sacramento 1600 34th St Sacramento, CA 95819 (916) 452-4741 ASE Feed & Supply Store 211 S Jefferson Ave, Plain City, OH 43064 (614) 873-4621 asefeedandsupply.com

Rio Grande Seed & Feed 2323 Alameda Ave. El Paso, TX 79901 915-532-6040